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MINI OSCE

divided by
lecturers

Lecture 1




Mini Osce

Level of Conciousness

Cummulative dose of Hypnotic drug

1- in which phase do nausea and vomiting usually occur? 4
2- in which phase there is irregular breathing? 4
3-in which phase does the amnesic effect start? 3
4- in which phase does hypnosis occur? 5









Introduction to anesthesia

45. Choose the correct statement regarding the stages of surgical anesthesia:

A)Paresis of the diaphragm precedes paresis of intercostal muscles
B)Regular breathing precedes cessation of REM
C) Vivid dreams are frequent during these stages

N e



Lec 2

Airway



Mini Osce

Q2)

X,

®

Mention 3 scenarios you would prefer to use B over A:
1) Doesnt require muscle relaxationl/

2) Doesn't require neck mobility , ——

3) Less tooth and laryngeal trauma /




Q13)

Match each of the following photos to the appropriate answer

-General anasthesia for mandibular surgery:




-Hernia repair in a 25 year old male:-

-Laparoscopic cholycystectomy:-

-Nasal septal surgery:-




-What is the expected proper endotracheal
tube size?

Non cuff:-5

Cuff:4.5




Ql:-

Match the following endotracheal tubes with each of the following cases:-

1-Hernia surgery: pic 4
2-Nose job: pic 3

. SRS
3-Hysterectomy: pic 3%0 9f>a(

4-Submandibular abscess:

piCZ/GUji\l/

/P

ANSWERS




A 6 Yr old patient (weighs 20kg) did a tonsillectomy,
after 2 days the

patient came back with bleeding, answer the following
questions:-

1-What is the type of ETT used?
Preformed nasal tube (Non-cuffed)



——— - -—— - - —_————— —

Ql2:-

Answer the questions regarding the following
picture:-

1- What is the right position? Sniffing
position

2- What you can do if can’t see ?
1) Change blade size or type

2) jaw thrust maneuver
3) check adequacy of laryngeoscope light
4) maybe use a fibro-optic bronchoscopy

—3- Whatis the ETT depthin aduits?
21-24 cm



Q2-

The proper airway tube for patient 2 y/o?
- laryngeal mask, laryngeal tube & endotracheal tube (Aor\—uﬂ@@ﬁ




1- How to check for the
proper size?

A-(Oral) must equal the
distance between the tip of the
lip and the mid way point
between the angel of mandible

and the tragus To.prl Mudlods
(W)

B-(Nasal)must equal the

distance between the hEoﬂhaihﬂ'E and the tragus
N oSse

2- How to insert:

A-(Oral)insert first half while it facing upward then rotate it
while continue insertion

B- (Nasal)insert it directly without going upward ( parallel to

the palate)/F/Oo/ gF Nose [ pithest £°;<aA3>




Ql2:-

What is shown in this CXR? And
whats the initial management?

1-this is Right endobronchial

intubation

2-Pull the tube back slightly to

ensure it is positioned centrally in
the trachea, +- 2cm from Carina.




Q3 .= A 4-year-old child requires an anesthesia plan for a tonsillar abscess drainage, but IV access
could not be established, he had been fasting for 6 hours and he weighs 20kgs, Answer the following:-

2-What are the possible complications?

e Airway obstruction
e Aspiration risk
e Difficult intubation
e Laryngospasm

e Bleeding

(From chatgpt)

4-What type of endotracheal tube should be used, and what is its appropriate size?

Non-Cuffed ETT, 5 mm




Q4:- A 54-year-old male patient with controlled hypertension requires an assessment based on the
provided larynx and pharyngeal images. Answer the following:

4-What is the appropriate endotracheal tube (ETT) size for this patient?

2 (b F5 “%’W\



Q14Z- Regarding this picture:-

)
1-What is the pressure of 1 ? EJ
15-22 mmhg \‘(

2-What is the function of part 2 ?

this is the pilot balloon, being inflated assures that the
cuff is also inflated with no defect< in it

Murphy ogn

3-What is the function of the blue part?
radioopaque on x ray

4-What is the external' diameter of part 3 ?

15 mm



Q5:- (Picture of a baby with a central line) it had nothing relevant to it

4 year old child with IV access, 16 kg, surgery for hypospadias repair, answer the
following questions:-

1-what is the best drug for induction?

Propofol ( since iv is established, not sure)

2-What is the tube size and depth for this patient when put on intubation?

Cuffed ETT L =2 g%*<% A D e
Size is 5 mm s ) e won O&ia}\_

Depthis14cm > 12 (&) =%



Q9:- (It was a picture of Anesthesia monitor showing capnography readings
suddenly dropping to zero)

1-Give differentials to why this happened?

o ETT disconnection/Extubation
o Airway obstruction or kinking
o Cardiopulmonary arrest

o equipment malfunction or disconnection

2-What is your immediate next step?



This patient could be in cardiac arrest, before starting CPR we need to make sure

that his airway and circulation are good, and also check the ETT connection, and
all other tubes connection.

If there is no circulation and breathing you start CPR (According to guidelines)



Q14:- e e e e TI7U63YO ... MALE j

A st isenibon NBmmvmpernicnt oo & armgritat Mo
«-am~ aBAra LR
- e CPgrcn e v e A mmemmannarand Neoree
L I v tdarond marwrow dve P e —wrgrarventive: Aovewaloerndon € Tovde T P Ne» '

- A~ .ll-t-.rﬁ RSN RS . =
Hypertension (Controlled), smoker |.... cocu ven..

—
Bl mgrbe cntonw 3
@ sveenns £ PegPE ooty
BT e
L3 2
ekt et her e rafere
B B han whe ot B o wonwnnbenntionnn
2 a8 LA 1 Rean i | O

4- what is his ETT size?

8 mm ( there were choices from 1-8)



Q3:-Match the following pictures with each type of surgery:-




A: LMA B: Cuffed ETT C: double lumen ETT D: non cuffed ETT (not sure)

1-left lung resection

C

2- Dilatation and curettage procedure:

A

3-Diagnostic Laparotomy

B

4-Emergency for hematuria after lower abdominal trauma

B

SP5
(@ Left lung resection

.double lumen ETT a3¥ — lung U isolation z Liaa
Aaaais C dislal

(& Dilatation and curettage (D&C) procedure

Ua4a0 Aspiration risk dualac 2l Jis 8y talac
fasting aaa,L0 13)

LMA JasY

Aasais A dilal

(&) Diagnostic laparotomy

intra-abdominal. Aspiration risk iligb — (s @id dalac
wolle

-(airway + controlled ventilation (nsi) cuffed ETT a3¥
Aagas B dislal

(& Emergency for hematuria after lower abdominal
trauma

Trauma + lower abdominal surgery — Aspiration risk
s (Sas + ol

.cuffed ETT a3¥

daans B dislal



Q10

Choose the correct intubation for each
patient

- Cystectomy in a 50 years old male
ETT 4

- Awoman with endometrial
thickining

RIEN g .
Jaxi dayly Lalizs — endometrial thickening Lasis iyl ETT (Endotracheal Tube) ;L3 92

31D&C ) i Suiall alalall cuwlis yué LMA — dl gl dalaadl
Jaxi Lag LMA (Laryngeal Mask Airway) e Ghal ¥ " N . .
sEndotracheal Tube (ETT) Intubation Ls muscle relaxation — LMA g b gab0 4 945 glins
salasll £ g3 “ N .
.(ouuii minutes) uai sls 5,2yl olls A 9gd ladd Jandiy

Aalle i o Tuggd Y ras pdudse L Tling Lo Ghasg + Tlaall Job + (s 4a(,a) 29240 aspiration ,.laaj

- Nasal septal defects e T (o

pregnancy.) sk Jal s Lasic Lo 13| skl 038 o

4315 aspiration risk — (GERD. obesity. full stomach %100 (1 5auds £/ 92 (5 50 a3Y — fluid shifts g (Sas an udd
(SIS LMA - . . . i .
(30 ol Y ETT iy — olls Aspiration risk 13/ X LMA dyalacyg § b Olslaad 1add (55 D&C,

s o ut h e n d ot ra c h e a l t u b e 3 e LI;I-A - LaL hysteroscopy, minor gyne procedures).
ETT 5 LMA 0 5
LMA:JBJ!J@.«I:JH" 5 sl recovery /(b 51 g el rdailadiay | LAl of
it st aspiration, i s il Stent ot Cystectomy — csai General anesthesia + ETT

i paltagh hggi gliad. LMA jhad g dalaall Jgb s caulio yué aspiration dalag

- Makxillary or tonsilar procedure s (Comiomavontoion
North endotrecheal tube 1

spiration risk aslasll 5i

5aaaafal gho.
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A-what is it and define it?

The chain of survival is a chain of events that must occur in

rapid succession to maximize the chances of survival from
sudden cardiac arrest

B-what is the second and third steps stand for?

2nd: early CRP

3rd: early defibrillation




Slide # 28

. . Slide # 11
Inspect the chain of survival. ,
Inspect the attached patient
1- What do rings 1 & 3 e - posttion. .
stand for in the chain?  ©oF 1. Whatis it called? Q%‘Z"L‘;’:ﬁ

Slide #: 8

Ring 1: Faely stepniwe 0n2 Lo\ Sernel

Ring 3: ,I—.Q!.ba,.h.cﬁ.\lbf?\al ~, SURVIVAL

2- What is the importance
of rings 1 & 3?

2. Whenis it used ?
GFRA \oleading (,({W\IHN\ (epter

3. Mention two of its
advantages when used in
that context?

Two of the rings in this chain of survival are evidence-
based. What are they?

A Muihadn avwey
B’ fleyrent astiotinn Cadn (PR (Extelnel corchnc Mkfﬁqa'is
' D¢ shedc oAy deliballdan
Slide # 25 Slide #:
A. What is the resuscitator in figure
1- What d i m_— BQ/]‘] ue QNF KCWMMHM 1 doing?
- What does rings — : . :
1 &3 stand fo? in OF kol fhime \,(L Cka)un\} 1f dne_pobient is cesporsive. 1
the chain? SURVIVAL v f’ﬁkagg
v Lf\‘[? B. How do the two resuscitators in
2- What is the L figure 2 synchronize their job?
importance of -_l__m_ml_h/m}h;mua__mwwrus 2
rings 1 & 3? Q&-me.-ml},-hz.-hﬁ-a\anmn,\_ochons
1\ beloe pousing e (PR an)  osianing roley RS
d\/[f) Q@(qgﬂl}"}— | 2 3{ 4 v pousing on, Iriny S
& call Per VAl tpiy é&ﬁwﬂ\“H,h
Yo (K v ceo vt hea't

cailng AT

Slide #: 8
1. What is the Resuscitator doing?
._(_hd.mzsf.wm .....................................
2. Describe the position of her hands.
Ou.hl.ﬂnu.&.ﬁk&.,jdu\xh)_gndm;.mm Srum,
lodd elbows
3. How deep should she move the chest wall?
S=b om
4. How often should she give breaths to patient?

..Mlu...ou..M-.Cmer_L...(,

Slide #: 14

1. Which group of patients are put
in this position after CPR?
_Mh/__h.ua‘_\_n_-aj_m)__t,xml_s&m_.‘-) restored

. What are the objectives of
putting patient in this position
after CPR?
-Deinkaisiny Opm ol wey.
.Pmu&.im\n\»}dm.eﬁ.d.v.&m.m}mt



148. What’s the name of this graph?

4
I
|
|
|

v |
I
I
I

ANSWER : Chain of survival







Answer the questions below
regarding the following picture

202. What do we call this chain? Define it

ANSWER : The chain of survival: a sequence of interventions taken by any
medical professional to rescue the patient from his critical condition.

-----\

N

203. Write the titles and descriptions of the second and third
circles.

ANSWER:
Second circle: Early CPR - To buy time
Third circle: Early defibrillation - To restart the heart

LS 7 SR L R 8y

(
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Answer the questions below
regarding the following picture

E\/‘Se OYimeker

217. Mention four clinical parameters this device provides:

ANSWER :

1-Sa02

2-HR

3-rhythm

4-presence of cardiac arrest

S (R T SR

(

218. False readings and artifacts can occur due to: (mention 2)

ANSWER :
1-nail polish
2-cautery

Bt T L e e

e TS

(







Q13)

What is the name of this ecg pattern? Asystole

What are the next 3 steps?
1-DC shock + chest compressions 2- 1mg Adrenaline  3-Recheck the system

Q14)
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(we dont remember if this was the exact pic in the exam) but this is Vtach
M a nag em ent? management of vtach:(based on the guidlines):IF unstable :-
synchronized DC shock up to 3 time
IF stable:-(pulseless) 1 shock then resume CPR for 2 minutes (give amiodarone 300m IV
,adrenalinel mqg after 3rd shock, if not pulseless (based on guidelines)



Q2)
A)what is the following machine?
Defibrillator

B)Which type is the preferable type to
use?

Biphasic Defibrillator
C)why did you choose this type?
1)less electrical energy requirement(more efficient)

2)fewer chances of burn



Q10)

A 55 year old women with a long term hx of Mi, presented with a low
pressure and confusion.

This is her ECG

1-Whats her Heart rate?

40-50 BPM (the image might not be very accurate but just notice the ST
elevation and the bradycardia)

2-Do you give this patient treatment and why?
Yes, the pt is unstable , she’s having an Mi and she’s bradycardic
3-what’s the appropriate action to take?

Give atropine 500mcg

4-alternative drug?

Isopernaline



Q7:-

Regarding this ECG with long case scenario , answer the following:-

1-What is the abnormal finding?

Bradycardia(Ventricular pause >3 sec)

2-Does it need treatment or no? and why?

Yes, because it can lead to cardiac arrest(signs of shock in past papers)
3-If atropine doesn’t work, what alternative you give?

Isoprenaline

4-What is the non invasive alternative? Transcutaneous Pacing

nNo.



Q13:-

1) what is this rhythm? Polymorphic VT(Torsades de pointe)

T

UM M\UU Hu\

2) What are the 4 orders that the leader should give for the teamwork?(
Patient’s ECG after ROSC)

1-Start chest compressions 2-Charge 3- Clear 4- Deliver(with max

energy) (I think also giving adrenaline and amiodarone)




(

I 49. A patient who had a car accident,, was admitted to the OR and underwent an

I operation . after that he was discharged to the ICU . -why we put the patient in ICU
I post-op ?
I

I

I

I

I

I

ANSWER : for further resuscitation and ventilation. |
I

I

I

/

\__—_—__—___—_—______—_—_—__—



A-what us that rhythm?
MT

B- what is the steps between 2nd stop of chest compression
to the start of the 3rd one?

Check the rhythm, shockable, continue chest compression

and charge the defibrillator on maximum voltage, when it
ready deliver the shock then continue chest compression




Q8:-

A shocked child comes to ER after RTA
1- mention 2 causes for the patient’s cardiac arrest?

Bleeding (hypovolemic shock) and pneumothorax after rib
fracture (obstructive shock)

2- mention to steps to save the pa‘u’ent?

. . Al )

Stop the bleeding, give IV fluids and blood sz +1siarrest > cpr 1
Jaza L = pulse o8 s waad shock 13
chest tube: « sy 839) Geddl mllas (CPR
.(transfusion




Q6:-

A collapsed patient, and the cpr leading started Chest compressions

1-Whats the diagnosis?

Ventricular Tachycardia

2-Calculate the HR:- depends on the specific image from the question

3- What should the CPR leader do?

Continue the CPR for 2 minutes, then assess the rhythm, if it persists as VT, shockable rhythm, a shock
should be given, then restart CPR for 2 minutes if no signs of life were returned.



Q11:-Regarding the following ECG, answer the questions below:-
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1-What is the diagnosis?
Asystole
2-Can you shock this patient?why?

No, this is a non-shockable cardiac arrest, DC shocks are usually to stop a heart
that’s beating too much or (fibrillating) to the point where it cant pump blood

3-What are your immediate steps after first dose adrenaline injection until
restart chest compression?

Reassess rhythm and circulation, check for return of spontaneous circulation,
maintain good airway and IV access



Q12:-46 year old male presented to the ER with blood pressure of 75/40, he had
a UTI 1 week ago, this is his ECG:-

{5821 |AER ST 2R PV AR R IR 2R IS

1-What is his ECG findings?



Sinus tachycardia
2-What to do next?
-the students had 2 answers:-

e Treat this as an unstable tachycardia, so DC shock up to 3 times if
unsuccessful Amiodarone 300 mg iv over 10-20 min(ALS guidelines)

e Treat this as septic shock, so you give iv fluids, iv antibiotics, and
vasopressins

3-Why did you do those steps:-
-if first answer:- because this is an unstable tachycardia, (tachycardia with shock)

-if 2"¥ answer:- patient has a septic shock ( hx of UTI 1 week ago, low bp , and his
tachycardia is sinus tachycardia)



Q4

56 years old male patient comes to
the ER with chest pain radiating to

the jaw, the patient underwent cath
stenting in our hospital several
months ago due to an Ml, the patient
Is hypotensive confused and unstable

- Does the patient require any treatment for his tachycardia ?
Yes
- What s first management ?
Amidrone 300 mg
Synchronized DC shock
- Why ?
The patient is unstable and at risk of cardiac arrest




Q6
A patient became
pulseless and this what

his monitor is showing :

What is this arrhythmia ? Torsades de pointe (polymorphic

ventricular tachycardia)
Mention one evidence based procedure you would perform in
this case: cpr, defibrilate

As CPR team leader mention the steps you will do from the end
of the first cycle until the end of the second (in order) :



Stop compressions — look at the monitor to assess rhythm

— feel for pulse — resume compressions — charge

defibrillator — clear — deliver
shock -




Inhalational anesthsia



Q11)4yo child with hard iv access was meant to have an iv
access procedure

. . . . 1-Bring his
Mention 2 ways by which you can reduse his anxiety? famiy

. o o - : 2- give him
How to induce anesthesia in this case?Inhalational toys

What tO do neXt? based on the context of the question and guidelinesanastheSIa



Q10:-

1-What’s the name of this device?
Vaporizer

2-Which one used for induction?

Sevoflurane

3- Which one has the lowest Saturated Vapour Pressure?

Isoflurane

4-Which one needs to be attached to electricity? Desflurane




QS .~ Regarding the inhaled anesthetic agents, answer the following:

) SayotuEne 7
e KL

1. Which agent is the least potent?



(@)

@]

13>

=

|Co

Which agent requires electricity for administration

Which agent has the lowest MAC?

Which device contains Sevoflurane?



Q7:-

What is the name of part A?

1-



Splitting Valve

2-What is the function of part B?

Vaporizer: contains anesthetic agents in a liquid form.

3-What is the MAC of
sevo?

3.1/2=1.5
4-Why is the MAC 2.5?

Additive MIAC of 2 mixed
agents?




Q5

- What is the name of this sign ?

Stepladder sign (breath by
breath increase in end tidal

CO2)

- Mention 2 possible causes: 0 W

—t
-

D
Y
D

Malighant hyperthermia =
ETT obstruction, extubation

- What would you do?
Adminster Dentrolene
Cooling measures, cold fluids, bladder and gastric lavage




Q9

Iso + deslurane vaporizors

- Whatis the MAC of the desflurane
vaporizer shown in the picture? Zero

- Whatis the MAC for Isoflurane
vaporizer shown in the picture ? Zero

- Which agent has the higher boiling
point ? Iso

- Which one needs to be connected to

electricity? Desflurane




Q11:-The question was to compare Sevoflurane vs Isoflurane:-

1-Which of the following is connected to electricity? None

2-MAC for each one?
Isoflurane:- 1.15% in adults at 1 atm pressure at sea level.
Sevoflurane:- 2.0% in adults at 1 atm pressure at sea level.




g3 .= A 4-year-old child requires an anesthesia plan for a tonsillar abscess drainage, but IV access

could not be established, he had been fasting for 6 hours and he weighs 20kgs, Answer the following:-

1-What type of anesthesia should be used?

-inhalational induction with sevoflurane

2-What are the possible complications?

e Airway obstruction
e Aspiration risk
e Difficult intubation
e Laryngospasm

e Bleeding

(From chatgpt)




Intravenous anesthsia




Q3)Pictures for:

A)Propofol B)Ketamine C)Medazolam D)Morphine
Which drug is a NMDA agonist None

Which causes pain on induction Propofol @&

. Borze LS\ )
Which hagfL anf%erograde amnesia Emperty Medazolam

Best drug for iv induction of anesthesia propotol



-What is the preoperative management for this patient?

Oral midazolam



Q4:-

Select the appropriate answer depending on these pictures:-

—
i
!’ ——
P it e
DEae rl‘(etamine (I:H - l
lydrochloride Injection = |
ml"lfﬂ' 100 MO 3 tiection, USP
sjetadle Enulsice. J1F For use in cats and 0 ma10 mL BT A0
200 mg per 20 ml subhuman primates only s mg/ m mLN
Thi (e g p CAUTION: Federal (USA) law 8 15 g imL )
openlal In 110 g per mi) restricts this drug 1o use by ! .
ta) cum S nrewer or on the order of a licensed - l&uﬂ_ am jas the .ﬁ-,ul;*
Coe N S e - FOR IM OR |V USE 0%
e ¢ ‘“1-' 3 . * -~ . \
2 2 W, R e Wome e pechra <! CONTAINS BENZYL ALD30
- o=
A/ -

[y
1

Acts on GABA receptor:- A,B, and D
Most potent cardiac depressor:- B
Most potent bronchodilator:-C
Considered an anti emetic drug:- B

S WN
R



Q10:-

Remifentanyl /// Morphine /// Precedex(dexmeditomidine)///
Fentanyl /// Tramadol

1-Which of these isn't an opioid? Precedex(dexmedetomidine)




Q 11:- Drug X is a new local anesthetic( and you are given the drug image) and a concentration
of 2%. Answer the following:

1. What is the concentration of the drug in mg/ml?

20 mg/mlL

2. If the patient weighs 60 kg, and the maximum dose is 4 mg/kg, how much should you
administer in mL?



Q13 .= .- Regarding these pictures answer the following

A AN i

3 ocun e g '
Ketamine HCI=; A
mechon, USP 1] 4
500 mg per Sml* | m
100 mgimil) §
":tw;a:;'u'( e > pental Inres
) witw 18 Pentalum matricum
TEm . “’Mmll!""’
2 -~ PO sohigsn mpctatie |
Xml
W
_ W

1-Which one is contraindicated in egg allergy?
Propofol

2-Which one acts as a bronchodilator?
Ketamine



Q5:- (Picture of a baby with a central line) it had nothing relevant to it

4 year old child with IV access, 16 kg, surgery for hypospadias repair, answer the
following questions:- liuall JulaY! asayi/z Mol oixi Hypospadias repair als

1-what is the best drug for induction?

Propofol ( since iv is established, not sure)
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1-Which one has anti emetic properties?

Propofol

2-Which one is an NMDA agonist?

NONE

3-Which one causes anterograde amnesia?

Midazolam

4-Which one causes Nausea and vomiting ?

Thiopental



Q11

- \t‘nf

L
Kmmm, HOl -, tomidate
.‘ seetion, US
Mquer.'.-l 1! Injection, USP
L1100 m'ml) T 8) ity 14X
o @ 1 e
.v-o—n.- Lt B h

 S—

- Wich casese direct catocholamines release ?



None

Wich has antiemitc properties ?
Propofol

Wich cases pain on induction ?

Propofol + etomidate
Which creates the kind of anesthesia where the patient may
appear conscious but they’re unaware of their surroundings 7

Ketamine
Which works on the GAPA receptor ?
Thiopental, etimodate, propofol




Fluid Management



Slide #5

Mention the amount of each of the following
solutes in the shown crystalloid solution:

Potassium (K+): ---—
mmol/L.

o e S

mmol/L.

Calcium (Cat++): ~-<@ “““““““““

mmol/L

Chloride (CI =): ====--- Lé‘j .........

mmol/L

Slide #: 10

State two main priorities in
treating a bleeding patient,

Slide #: 12

# Name

Age

1 Ahmad XX

67087x

0]

=t

Slide #: 11

Mah_ Ali
What screening tests are done on the

Examine this excerpt from a pediatric surgery list.

% [0

his surgery starts at 09:00 AM next morning, what is his estimated

LIf this patient weighs 40 kg and started fasting at 11 :00 PM and

,/ KBV [#cu

fluid deficit?
‘ (o o YRR ¥\0
2.What is the estimated proper endotracheal tube size for this

patient? EQ s 5.5 + %i/“(
6““" > W'. 1/2’

Slide # 8

What salt is used in preparing this solution and in
what perecnt concentration is it prepared ?

[Nao\ Q. A1 (4m/w00m)

What is the final concentration of its dissolved
constituents in mmol/ml

constituent Concentration

cO teu of this bag before use?
LT ik

Y _Sy‘vb .......... Ji:b

Slide # 26

Mention the solute constituents of this bag of

crystalloid solution. \{) \\ (76

:
.....L..4&}:’.‘&%...nwa.z.ﬂ............. Ter

2-
0\1.-«5. ?\/CLM\\\

R 154_mmd/L
I | 194_siad/ - C A 2
S \Sb"
. er ¥
Slide # Ibraheem p.,\"' Slide # 8
. o —T ) —
1 ;;‘::j
Compared to solution 1, what extra solutes Smay, Please fill in the remaining solutes and
are present in solution 27 = | their concentrations in this solution. ) 4 ’
&t b 22’ tiaatats R ruvallt (5 Examine the O/R list snapshot shown above. Saleh weighs 40
K',ced laa 5 g ‘ it e kg, and had been fasting for 8 hours before his operation.
- . mmol/l  ggmarly
. e “";.1*'” 3- *% ;W mmolL 274 menk 1- What is his estimated fluid deficit?
Which of the two solutions is slightly w — i 5 LY
Hypotonic? 4- I - mmol/L
- 2 - SR 5 ol 2. m 2- What endotmcheal tube size l{ 1 SullSl gtlenl ?
- o mmo /

3- At what dcpth should his endotracheal tube be taped at the
lips?
\b.cans




e bt € e

Slide#:9 [ -~

This patient is Y vt B m@x X 53') .
Departin of Aneshesia ut L
scheduled for ourpaimo |
bilateral inguinal iz pe £ i ] 2002
: : I el Asesent Nt
hernia repair. e % -
1. Whatis his fluid Al |
deficit? T et 251 [t oo
TALEYOMY | VO | free - febwe
: < .~ i fM
\.M\NIS p ' /afflv-wna
ine i’ W A
2 Whatishis B | e - by for ¢
expected proper | hewrs -
endotracheal -
tube size? et it /7 0
Pgt,2 \0 ﬂvf‘::iﬁ"';':‘;: vhe B
o LM TG ,
Tl ok \65“,1 LMMWut 94 4o: 7y

LW)!'M‘ \z" %‘ \“}CM

Yl

Examine this anesthesia record

extract

1. If this patient’s surgery is
going to be at 12:00:, what is
his fluid deficit then?

ALY

2. If his surgery necessitates
endotracheal intubation, what
will be the proper tube size?

.-b:ﬁ.m-mup )

Mllﬂ\m‘ly “*‘l (Fa) [l Nane XXX xx%
Dipartme of Aneshess w LYy ?
Ao Vangmen Rl o . X0 3 K
[ (L5 7./“ 29[7’
I Preperine \ewnen Ve

[ Pationtseew bn Preaperstive Ancathone (k! A5 0 N0

A Hiskory

s Asothess: [ nfnmarle:

V' ¢ Mo cus /v&“m (e

i Achw T Y | W held
——-— _ b 1y heuew ]
atpar — | A YATI - hx‘(n, Sine Oéz‘;
e )

//'l - Mo Aﬁ.f

Che fub oy Wy
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Pain




lid
, Slide #: 4 Slide#7

This diagram summarizes the
interaction between Pain and its
psychological side issues : anxiety,
sleep deprivation, and “fear and
helplessness”. Match each one with

Inspect this attached figure of pain
pathways

A- ldentify the structures indicated

by red numbers: :
Caden (Vi Seaodly ofen

its corresponding location number. 1- of Pariehd \ obe)
Pain : ---3----mm- 2- AN
Anxiety: % AR o [ Q_Q_C\b_g.-_{\lg.(.bﬁ/_\%w)
Sleep deprivation: ----=----- B- What is the function of the Tt e
Fear and helplessness: ‘ structure number 3? N R
e gAny?) Y lonnny Sl 5
&\J\U\'&) W \0{00\8\'\\\‘\9 (;ﬂ\\f‘\} (;‘ :
Slide # 10
1. Which group of drugs does this
drug belong to? Slide #:
RS
, 1. What is this tool
P Blasei onhyo;r answer in 1, called?
classity this rug _Visuo)_analosw ¢ scale
RS A AN G S W VAT o - +
s 5 2. How is it used?
R €. LUV, X7 W 404 mele o _mov} on dhe line

_Lmaﬁjnj_n_.anu__pm_lwpl____

3. How do you rever§e its effect?

e AN il



Q7)

Choose the correct type of pain:- (Nociceptive/Neuropathic)

J Tightnaess or

( pain in chest

\

{ ‘ |7 Nociceptive pain
v

et — Angina

X . Nociceptive pain
Neuropathic pain

Nociceptive pain




Q5:-

Select the appropriate severity of pain in which each of these drugs can
be used:

1-Voltarine: mild to moderate
2-Morphine: Severe
3-Paracetamol: All

4-Tramadol: Moderate




Q10:-
Remifentanyl /// Morphine /// Precedex(dexmeditomidine)///
Fentanyl /// Tramadol

1-Which of these isn't an opioid? Precedex(dexmedetomidine)

2-Which is given mainly be infusion? Remifentanyl (Precedex
can be aswell)

3-Which one is the most common Post-op? Morphine

4-Which one is least potent? Tramadol

5-?



Q9 .= Regarding the following pictures,answer the following questions:-

1-Which one is naturally occurring?

Codeine

2-Which one is 100 times stronger than morphine?

Fentanyl

3-Which one has a nicotinic anticholinergic effect?

Mepiridine

G
ol

GO54-01 K only

NOD 0GA1-608
Meperidine

HC1 Injection, USP
1ol Mial

100 mg/mL



Q15:-

Name the following pain scores:-

| L
Lo | | | e “ | e
I I
I |
0= =0 pain 00= worst poscible paie

Versal Rafing Scale (VRS

NoO pasn Milkd Moderase Severe pam
{ 1 | |
T o 4 e N 5T ™
'u (=x=) ."I ./ == \ |c' ‘= 0_')\ \ ‘. - Qi@.\‘ N\
\ '\-,--—. —gr \ S | __L:- | \ )
"\________/" N % = 2% Sy My S
No Hurts Hurts Hurts Hurts
Hurt Little Bit Little More Even More Whole Lot

Wong baker FACES rating scale

Numerical rating scale

Visual analog scale

Verbal rating scale
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® il o S " sMidazolam G

~ .‘ ¢ ‘ {1 M ¥ - ; e - I

§.-.g 4 E z; !t_MU.l.JOJE HU Fl"'t‘mnxl Crrate ‘: iection, USP

RES52 é.j M o s 850 mg/10 mL UL

= E‘ 4 & gﬁ S /L)

5’:%“&' g A ~; mdazolam (as the hydrocts®®
EsT A . -t FOR IM OR IV USE ONY
=X S gs % = ; | - CONTAINS BENZYL ALOOR!
= = S

- Which cases Histamine release ? A,C,D. (According to chat
gpt only morphine)

- Which affects the NMDA receptor ? None

Which one is 10 times more potent than morphine? Fentanyl
- Which administration participates lung edema? Naloxone




- Which is mainly metabolized by plasma esterases ?
Remifentanil




Neuromuscular blocking Agents




Q3:-

Select the appropriate drug in each of the following
1- Competitve Non depolarizing agent:- Rocuronium
2-Antidote:- Neostigmine, Sugammadex
3-Competitive depolarizing agonist:- Succinylcholine

4-Direct depolarizing muscarinic antagonist:- none



g 10:- The question presents the following NMBA (Neuromuscular Blocking Agents): Racuronium,

Neostigmine, Suxamethonium, and Cisatracurium. Answer the following: (The question had images of
the drugs)

1. Which one should be given in emergency to a patient with pseudocholinesterase (pAchE)
deficiency?

Rocuronium and Cisatracurium

2. Which one is augmented by atropine?

Neostigmine

3. Which one does not work competitively on its receptor

Suxamethonium (Succinylcholine)
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1-Which of these drugs is a non-competitive agonist?
Succinylcholine
2-Which one is degraded in the blood by the body’s Ph and Temp.?

Cisatracurium

3-which one is used for rapid induction for someone with pseudocholinesterase

deficiency?
Rocuronium

4-Which one is augmented by concomitant atropine?

Neostigmine???
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